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1 Introduction

According to the last meeting, cell reselection rule is changed and UE would reselect to the cell with highest number of beams above the threshold (i.e. absThreshSS-Consolidation) [1]. This change may cause pingpong reselection phenomenon and this contribution wants to discuss this issue.
2 Discussion
Take the following figure 1 as example. UE is in the overlapped coverage of cell1 and cell2, which are intra-frequency or inter-frequency with the same priority. Both cell1and cell2 are satisfied with S criterion. Cell1 does not configure rangeToBestCell, so UE in cell1 shall perform cell reselection to the cell ranked as the best cell. Cell2 configures rangeToBestCell, UE in cell 2 performs cell reselection to the cell with the highest number of beams above the threshold (i.e. absThreshSS-Consolidation) among the cells whose R value is within rangeToBestCell of the R value of the cell ranked as the best cell.
Assume that UE finds that cell2 (e.g. -65dbm, one good beam above absThreshSS-Consolidation) is stronger than cell1 (-66dbm and -69dbm, two good beams above absThreshSS-Consolidation), while cell1 has more good beams above absThreshSS-Consolidation than cell2. Under this situation, pingpong reselection will happen, when UE in cell1, it should reselect to cell2 according to R rank, while UE in cell2 should reselect to cell1 because of its good beam number.
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Figure 1 Pingpong Reselection
Another pingpong reselection scenario may happen if two cells configure different absThreshSS-Consolidation. It is assumed that one static UE is in the overlapped coverage of cell3 and cell4. Both of these two cells configure rangeToBestCell, but these two cells configure different absThreshSS-Consolidation. It is assumed that at first UE camps in cell3. This UE finds that both cell3 and cell4 are within rangeToBestCell of the R value of the cell ranked as the best cell. UE detects cell3 with three strongest beams (-63dbm, -67.1dbm and -67.8dbm), and detects cell 4 with two strongest beams (-65dbm,-66dbm).
When camping in cell3, based on the threshold absThreshSS-Consolidation (-67dbm) configured by cell3, UE finds that cell4 (i.e. -65dbm,-66dbm, two good beams above -67dbm threshold) has more good beams than cell3 (i.e. -63dbm, -67.1dbm and -67.8dbm, but only one good beam above -67dbm threshold). So UE shall reselect to cell4. 
After UE enters cell4 and finds cell4 configures different absThreshSS-Consolidation as -68dbm. Under this situation, UE finds that cell3 has more good beams (i.e. -63dbm, -67.1dbm and -67.8dbm, three good beams above -68dbm threshold) than cell4. Then this UE should reselect to cell 3 again.
Observation: two Pingpong reselection scenarios may happen:

· Scenario 1: Pingpong reselection if two cells utilizes different cell reselection rules

· Scenario 2: Pingpong reselection if two cells configures different absThreshSS-Consolidation
In order to deal with these Pingpong reselection scenarios, it is better to utilize one common solution. For scenario 2, if the network can configure the same absThreshSS-Consolidation for the intra-frequency cells and the inter-frequency cells with the same frequency priority, the pingpong will not happen. But this solution can not prevent scenario 1 from happening. For scenario 1, unless the operator always configures the same reselection rule for frequencies with the same priority, this pingpong would happen frequently. 

In fact, UE can notice that pingpong reselection happens. It is feasible for UE to adjust reselection rule once it detects pingpong reselection. For example UE has to adopt R rank rule for cell reselection. UE need to judge whether pingpong happens by itself. If yes, UE only adopts one reselection rule. This solution can be applicable for scenario 1 and 2.
So we have the following proposal:
Proposal: To deal with two pingpong scenarios, one common solution is preferred. Once UE judges pingpong reselection, it adopts one reselection rule.
3 Conclusion

In this contribution we analyzed pingpong reselection issue, and made the following proposal:
Observation: two Pingpong reselection scenarios may happen:

· Scenario 1: Pingpong reselection if two cells utilizes different cell reselection rules

· Scenario 2: Pingpong reselection if two cells configures different absThreshSS-Consolidation
Proposal: To deal with two pingpong scenarios, one common solution is preferred. Once UE judges pingpong reselection, it adopts one reselection rule.
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